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Usage in Prelims:

o Articles 124, 217, 218 - removal of judges.
« Judges (Inquiry) Act, 1968 - composition of inquiry committee.

Usage in Mains (GS-2):
Judicial accountability vs. judicial independence.

Context

The removal process for Justice Yashwant Varma of the Allahabad
High Court has been initiated after a motion signed by 146 Lok Sabha
members was admitted by the Speaker, Om Birla. Allegations include
the discovery of burnt bundles of currency notes at his residence. A
three-member inquiry committee has been constituted under
Section 3(2) of the Judges (Inquiry) Act, 1968. The case operates
under the constitutional provisions of Articles 124, 217, and 218, which
govern the removal of Supreme Court and High Court judges.

Removal of Judges - Supreme Court & High Court

Supreme Court Judges:

o Article 124(4): Removal by the President on grounds of proved
misbehaviour or incapacity.
o Article 124(5): Parliament to regulate the procedure by law.



High Court Judges:

o Article 217(1)(b): Removal on grounds of
proved misbehaviour or incapacity.

o Article 218: Applies the same procedure
as for Supreme Court judges under
Article 124(4) and 124(5).

e In both cases, the procedure is governed
by the Judges (Inquiry) Act, 1968.

Step-by-Step Procedure (Same for Both SC &
HC Judges):

Initiation of Motion

« Motion must be signed by at least 100
members of the Lok Sabha or 50
members of the Rajya Sabha.

o It is submitted to the Speaker (Lok
Sabha) or Chairman (Rajya Sabha).

Admission of Motion

« The Speaker or Chairman can admit or
reject the motion.

Constitution of Inquiry Committee

« Once admitted, a 3-member committee
is set up under Section 3 of the Judges
(Inquiry) Act, 1968.

« Members include:

1.A Supreme Court judge.

2.A Chief Justice of a High Court (not from
the concerned HC).

3.An eminent jurist.

Committee Investigation and Report

« The committee investigates the charges.

o If the judge is found not guilty, the
process ends.

o If guilty, the motion for removal is taken
up for discussion and voting in both
Houses.
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Parliamentary Approval
« Each House must pass the motion
separately by:
o A majority of the total membership of
that House, and

o A two-thirds majority of the members
present and voting.

Order by President

« Once both Houses pass the motion, the
President issues the order for removal of
the judge.



Consider the following statements:

1.The motion to impeach a Judge of the Supreme Court of India
cannot be rejected by the Speaker of the Lok Sabha as per the
Judges (Inquiry) Act, 1968.

2.The Constitution of India defines and gives details of what
constitutes ‘incapacity and proved misbehaviour’ of the Judges of
the Supreme Court of India.

3.The details of the process of impeachment of the Judges of the
Supreme Court of India are given in the Judges (Inquiry) Act, 1968.

4.If the motion for the impeachment of a Judge is taken up for
voting, the law requires the motion to be backed by each House of
the Parliament and supported by a majority of total membership

of that House and by not less than two-thirds of total members of
that House present and voting.

Which of the statements given above is/are correct?
(@) 1and 2

(b) 3 only

(c) 3 and 4 only

(d)1,3 and 4
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Usage in Prelims: Inflation Concepts: Retail
inflation, core inflation, base effect

Context of the Article

Retail inflation in India dropped to 1.55% in July
2025, the lowest since June 2017, mainly due to
falling food prices. This level is well below the
Reserve Bank of India’s comfort band of 2%-6%.
The data, released by the Ministry of Statistics
and Programme Implementation (MoSPI),
shows inflation easing for nine consecutive
months. Economists attribute this trend to a
combination of the high base effect, better
monsoon conditions, adequate water reservoirs,
and strong kharif sowing.

Keywords

Retail Inflation

o Definition: The rate at which the prices of
goods and services consumed by
households rise over a given period.
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« Measurement: In India, measured using

the Consumer Price Index (CPI).

 Context here: Retail inflation fell to 1.55%

in July 2025.

Consumer Price Index (CPI)

Definition: Measures the change in the
price level of a fixed basket of goods and
services purchased by households.
Components: Includes categories like
food, housing, fuel, clothing, and
services.

Importance: Main measure of retail
inflation in India, used by RBI for inflation
targeting.

Context here: MoSPI's CPI data showed
nine straight months of easing inflation.



Core Inflation

« Definition: Inflation measure that
excludes volatile components like food
and fuel prices, to capture underlying
long-term price trends.

« Context here: Core inflation eased to 4.1%
in July 2025 from 4.4% in June.

High Base Effect

o Definition: A statistical phenomenon
where the inflation rate appears lower
because prices were already high in the
same period of the previous year.

o Context here: Inflation looked low partly
because July 2024 prices (the base) were
very high, making the year-on-year

change appear smaller.

A rapid increase in the rate of inflation is
sometimes attributed to the “base effect”. What
is “base effect”?

(a) It is the impact of drastic deficiency in
supply due to failure of crops

(b) It is the impact of the surge in demand
due to rapid economic growth

(c) It is the impact of the price levels of
previous year on the calculation of inflation
rate

(d) None of the statements (a), (b) and (c)

given above is correct in this context
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Mains: Role of satellite internet in digital inclusion, disaster
management, and national security

Context

The rise of projects like Elon Musk’s Starlink signals a shift from
traditional, ground-based internet delivery systems to satellite-based
systems capable of reaching remote, disaster-hit, and conflict-prone
regions. This advancement has important civilian and military
applications, and is being recognised as a tool for national resilience

and economic growth.
Summary

Difference from Traditional Internet:

« Traditional Internet: Uses cables (optical fibre, copper) and towers
to transmit data. Effective in urban areas but limited in remote or
disaster-hit zones due to infrastructure gaps, high costs, and
vulnerability to damage.

« Satellite Internet: Uses satellites in space to beam internet signals
directly to ground receivers. Can provide connectivity in any
location without relying on continuous ground-based
infrastructure.



Satellite Orbits:

« GEO (Geostationary Earth Orbit): ~35,786
km altitude, large coverage, high latency,
expensive but stable connection.

« MEO (Medium Earth Orbit): 2,000-36,786
km altitude, used for navigation systems,
moderate latency.

e« LEO (Low Earth Orbit): 160-2,000 km
altitude, low latency, small satellites,

quicker deployment; example: Starlink.

LEO Mega-Constellations:

« Thousands of satellites providing near-
global coverage.

o Each satellite is “overhead” for only a few
minutes before passing the signal to the
next one.

Applications:

« Emergency communications, disaster relief,
military operations, education, healthcare,
transport, connecting rural areas.

Challenges and Prospects

« Current costs are high but expected to
decline with scale.

« Nations see it as a strategic asset; India is
advised to create policies for integrating it
into digital and economic strategies.
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« Encourages application of knowledge over memorisation.

GS Paper 2 Advantages (Benefits)

Education Aspect: Education policy reforms, assessment methods, o o ] )
Develops critical thinking & analytical skills.

competency-based learning, NEP 2020 implementation. .
Reduces exam stress; closer to real-world problem-solving.

Encourages familiarity with resources and information-finding

CBSE Open-Book Exams skills.
Context o Supports NEP 2020’s goal of holistic and deeper learning.
« CBSE to introduce Open-Book Exams (OBE) for Class 9 from Disadvantages (Limitations)
2026-27. « Risk of over-reliance on materials instead of understanding.
« Decision follows a pilot study (Nov-Dec 2023) in selected schools.  Poorly designed questions may still lead to rote-based answers.

« Aim: Shift from rote learning to competency-based assessment
under NEP 2020 & National Curriculum Framework 2023.

History

« First known use in Hong Kong, 1953.
« USA & UK conducted trials between 1951-1978.
e In India:

o CBSE introduced OTBA in 2014 for select subjects.
o Scrapped in 2017 due to inability to develop critical thinking
skills.



 Time pressure remains if students are not well-prepared.
 Requires teacher training for effective question design.

e Students unfamiliar with the format may face initial disadvantage.

Research Insights

« Norwegian study (2000): OBEs improve understanding.
« Indian studies: unfamiliarity and lack of preparation reduce
effectiveness.

Conclusion

« CBSE's move is a significant shift in assessment culture.

« Success will depend on question quality, teacher preparation, and
student orientation.

o If implemented well, OBEs could modernise India’s education
system and promote skills relevant to the 21st century.
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“Open-Book Exams have the potential to transform India’s school
assessment system. Critically analyse their advantages and
limitations in light of CBSE's plan to introduce them from 2026-27.”

Mains Question (150 words)



Context:

The Comptroller and Auditor General (CAG) reported that as of 2023-24, the Union Government
failed to transfer ¥3.69 lakh crore worth of cess collections to the designated funds for which
they were levied. This shortfall spans decades, starting from 1974, and affects funds for investor
education, national highway monetisation, oil industry development, and health & education.

Tax — A compulsory charge on income, goods, services, or property to fund general govt.
expenditure like defence, welfare, and infrastructure. Levied on all eligible taxpayers; central
taxes are shared with states. Examples: Income Tax, GST.

Cess - A “tax on tax” imposed for a specific, named purpose (e.g., education, health) and
calculated on the tax amount. Paid by all taxpayers with tax liability; temporary; not shared
with states, retained by Centre for the stated purpose. Examples: Education Cess, Health &
Education Cess.

Surcharge - An extra charge on tax, mainly on high-income individuals or companies above a
set threshold. Progressive in nature; goes to Consolidated Fund of India without earmarking;
not shared with states. Examples: 10-37% surcharge on income tax for the super-rich.

Article 270 - Centre shares taxes with States, but cess & surcharge are excluded; cess must be
for a specific purpose and Centre keeps full proceeds.

Article 271 - Parliament can levy surcharge on certain taxes; full proceeds go to Centre, no
earmarked purpose.



DAILY MCQs FOR PRACTICE

Ql. With reference to the process of removal
of a High Court judge in India, consider the
following statements:

1.The motion for removal can be initiated
only in the Lok Sabha.

2.The process involves a special majority in
both Houses of Parliament.

3.The removal is executed by the President
after Parliament’s approval.

Which of the statements given above is/are
correct?

A.1and 2 only
B. 2 and 3 only
C.1and 3 only
D.1,2and 3

Q2. Consider the following statements
regarding retail inflation in India:

1.Retail inflation in India is measured using the
Wholesale Price Index (WPI).

2.The base effect can influence year-on-year
inflation figures.

3.Core inflation excludes volatile items such as
food and fuel.

Which of the statements given above is/are
correct?

A.1only

B. 2 and 3 only
C.1and 3 only
D.1,2and 3

Q3. Regarding satellite-based internet
services, consider the following statements:

1.They require a network of low-earth orbit
(LEO) satellites.

2.They can provide internet connectivity in
remote and rural areas without ground
infrastructure.

3.The term “overhead"” refers to the cost of
satellite launches.

Which of the statements given above is/are
correct?

A.1and 2 only
B. 2 and 3 only
C.1and 3 only
D.1,2and 3



DAILY MCQs FOR PRACTICE

Q4. With reference to the open-book
examination format in India, consider the
following statements:

1.1t is currently implemented across all
CBSE schools in India.

2.0pen-book exams focus more on
analytical and application-based skills
rather than rote memorization.

3.0ne of its limitations is the potential for
students to become overdependent on
reference materials during the test.

Which of the statements given above is/are
correct?

A.1only

B. 2 and 3 only
C.1and 2 only
D.1,2and 3

Q5. Regarding cess in the Indian taxation
system, consider the following statements:

1.Cess revenue is shared between the Centre
and the States.

2.The purpose of a cess is to fund a specific
scheme or project.

3.The proceeds from a cess are part of the
Consolidated Fund of India.

Which of the statements given above is/are
correct?

A.1only

B. 2 and 3 only

C.1and 3 only

D.1,2and 3
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